Page 1 of 16



Tabulation of Bids

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) ALLIED PAINTING, INC.		(2) M. PAINTING COMPANY, INC.		(3) JUPITER PAINTING CONTRACTING CO., INC.	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt Set:		Cat Alt Member:			
0001	151006M	15,000.000	1.00000	15,000.00	1.00000	15,000.00	1.00000	15,000.00
	RMANCE BOND AND NT BOND	DOLL						
0002	154003P	(1)	175,000.00000	175,000.00	175,000.00000	175,000.00	175,000.00000	175,000.00
MOBILIZ	ZATION	LS						
0003	159003M	52.000	1.00000	52.00	20.00000	1,040.00	120.00000	6,240.00
BREAKA	AWAY BARRICADE	U						
0004	159009M	500.000	0.01000	5.00	2.00000	1,000.00	9.00000	4,500.00
TRAFFIC	CONE	U						
0005	159006M	100.000	1.00000	100.00	10.00000	1,000.00	64.00000	6,400.00
DRUM		U						



Page 2 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ALLIED PAINTING, INC.		(2) M. PAINTING COMPANY, INC.		(3) JUPITER PAINTING CONTRACTING CO., INC.	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Roadway		Cat Al	t Set:	Cat A	It Member:	
0006	159028M	8.000	100.00000	800.00	25.00000	200.00	4,100.00000	32,800.00
FLOODL OPERAT	IGHTS FOR NIGHTTII IONS	ME U						
0007	159012M	800.000	1.00000	800.00	2.50000	2,000.00	29.00000	23,200.00
CONSTR	RUCTION SIGNS	SF						
8000	159029M	4.000	100.00000	400.00	500.00000	2,000.00	33,000.00000	132,000.00
SIGN W/	BLE VARIABLE MESSA REMOTE NICATION	AGE U						
0009	159027M	4.000	1.00000	4.00	500.00000	2,000.00	3,500.00000	14,000.00
FLASHIN	IG ARROW BOARD, 4	I' X 8' U						
0010	159108M	4.000	1,000.00000	4,000.00	1,000.00000	4,000.00	15,000.00000	60,000.00
_	CONTROL TRUCK VED CRASH CUSHION	VITH U						



Tabulation of Bids Page 3 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Contract Description.	Maintenance Briag	or arrang contro	10t 20 10 0				
Line No / Item ID Item Description		(1) ALLIED PA	AINTING, INC.	(2) M. PAINTIN INC	•		R PAINTING ING CO., INC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Al	Set: Cat		t Alt Member:	
0011 554012P	(1)	10,000.00000	10,000.00	10,000.00000	10,000.00	10,000.00000	10,000.00
TESTING, IF AND WHERE DIRECTED	LS						
0012 153011M	1,000.000	1.00000	1,000.00	1.00000	1,000.00	1.00000	1,000.00
TRAINEES	HOUR						
Section Totals:			\$207,161.00		\$214,240.00		\$480,140.00



Tabulation of Bids Page 4 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) ALLIED PAINTING, INC.		(2) M. PAINTING COMPANY, INC.			R PAINTING ING CO., INC.
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0002	Non-Participat	ing	Cat Alt	t Set:	Cat A		
0013	152004P	10,000.000	1.00000	10,000.00	1.00000	10,000.00	1.00000	10,000.00
_	'S AND CONTRACT CTIVE LIABILITY NCE	OR'S DOLL						
0014	152015P	10,000.000	1.00000	10,000.00	1.00000	10,000.00	1.00000	10,000.00
POLLUT	ION LIABILITY INSU	JRANCE DOLL						
Secti	on Totals:			\$20,000.00		\$20,000.00		\$20,000.00



Tabulation of Bids Page 5 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) ALLIED PAINTING, INC.		(2) M. PAINTING COMPANY, INC.		(3) JUPITER PAINTING CONTRACTING CO., INC.	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0003	Construction E	ngineering Cat Alt Set:			Cat Alt Member:		
0015	155009M	1.000	15,000.00000	15,000.00	15,000.00000	15,000.00	19,000.00000	19,000.00
FIELD OF	FFICE TYPE C SET U	JP U						
0016	155027M	12.000	1,500.00000	18,000.00	1,500.00000	18,000.00	2,700.00000	32,400.00
FIELD OF MAINTEN	FFICE TYPE C NANCE	МО						
Section	on Totals:			\$33,000.00		\$33,000.00		\$51,400.00



Tabulation of Bids Page 6 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

	No / Item ID Description		(1) ALLIED PA	INTING, INC.	(2) M. PAINTIN IN			R PAINTING ING CO., INC.
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0004	Bridge		Cat Al	t Set:	Cat A	It Member:	
0017	MMB187M	1.000	175,000.00000	175,000.00	400,000.00000	400,000.00	255,460.00000	255,460.00
	SURFACE PREPARAT DATING Str. NO 0426-							
0018	MMB187M	1.000	220,000.00000	220,000.00	350,000.00000	350,000.00	180,000.00000	180,000.00
	SURFACE PREPARAT DATING Str. NO 0428-							
0019	MMB187M	1.000	150,000.00000	150,000.00	350,000.00000	350,000.00	450,000.00000	450,000.00
	SURFACE PREPARATO ATING Str. NO 0327-							
0020	MMB187M	1.000	250,000.00000	250,000.00	400,000.00000	400,000.00	250,000.00000	250,000.00
	SURFACE PREPARAT DATING Str. NO 0327-							
0021	MMB187M	1.000	700,000.00000	700,000.00	650,000.00000	650,000.00	1,134,000.00000	1,134,000.00
-	SURFACE PREPARAT OATING Str. NO 0327-							

Page 7 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Line No / It			(1) ALLIED PAINTING, INC.		(2) M. PAINTING COMPANY, INC.		(3) JUPITER PAINTING CONTRACTING CO., INC.	
Alt Set / Al	t Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	Bridge	Cat Alt		t Set: Cat A		Alt Member:	
0022 MI	MB187M	1.000	180,000.00000	180,000.00	500,000.00000	500,000.00	339,000.00000	339,000.00
	FACE PREPARATION IG Str. NO 0327-170							
0023 MI	MB187M	1.000	200,000.00000	200,000.00	350,000.00000	350,000.00	339,000.00000	339,000.00
	FACE PREPARATION IG Str. NO 0327-172							
0024 MI	MB187M	1.000	190,000.00000	190,000.00	270,000.00000	270,000.00	339,000.00000	339,000.00
	FACE PREPARATION IG Str. NO 0328-150							
0025 MI	MB187M	1.000	170,000.00000	170,000.00	300,000.00000	300,000.00	339,000.00000	339,000.00
	FACE PREPARATION IG Str. NO 0328-164	N LS						
Section Totals:			\$2,235,000.00		\$3,570,000.00		\$3,625,460.00	
	Contra	ct Totals		\$2,495,161.00		\$3,837,240.00		\$4,177,000.00



Page 8 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Contract Description: Maintenance Bridge Painting Contract 2016-5

Cost Plus Time Totals \$2,495,161.00 \$3,837,240.00 4,177,000.00

() indicates item is bid as Lump Sum



Page 9 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Contract Description. Maintenance Bridge Painting Contract 2016-5									
	o / Item ID escription		(4) ATSALIS BROTHERS PAINTING CO		(5) CORCON INC				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTIO	N: 0001	Roadway		Cat Alt	t Set:	Cat A	It Member:		
0001	151006M	15,000.000	1.00000	15,000.00	1.00000	15,000.00			
	MANCE BOND AND IT BOND	DOLL							
0002	154003P	(1)	175,000.00000	175,000.00	175,000.00000	175,000.00			
MOBILIZ	ATION	LS							
0003	159003M	52.000	100.00000	5,200.00	95.00000	4,940.00			
BREAKA	WAY BARRICADE	U							
0004	159009M	500.000	15.00000	7,500.00	45.00000	22,500.00			
TRAFFIC	CONE	U							
0005	159006M	100.000	65.00000	6,500.00	95.00000	9,500.00			
DRUM		U							
DRUM		U							



Page 10 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ATSALIS PAINTII		(5) CORC	CON INC		
Alt Set / Alt Member Quar	ntity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Roadway			Cat Alt S		t Set: Cat A		
0006 159028M	8.000	1,500.00000	12,000.00	1,200.00000	9,600.00		
FLOODLIGHTS FOR NIGHTTIME OPERATIONS	U						
0007 159012M	800.000	15.00000	12,000.00	12.00000	9,600.00		
CONSTRUCTION SIGNS	SF						
0008 159029M	4.000	10,000.00000	40,000.00	12,000.00000	48,000.00		
PORTABLE VARIABLE MESSAGE SIGN W/REMOTE COMMUNICATION	U						
0009 159027M	4.000	1,800.00000	7,200.00	1,000.00000	4,000.00		
FLASHING ARROW BOARD, 4' X 8'	U						
0010 159108M	4.000	16,500.00000	66,000.00	15,000.00000	60,000.00		
TRAFFIC CONTROL TRUCK WITH MOUNTED CRASH CUSHION	U						

Page 11 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

	/ Item ID scription		(4) ATSALIS BROTHERS PAINTING CO		(5) CORCON INC				
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001		Roadway		Cat Alt	Set:	Cat A	It Member:		
0011	554012P	(1)	10,000.00000	10,000.00	10,000.00000	10,000.00			
TESTING, DIRECTE	IF AND WHERE	LS							
0012	153011M	1,000.000	1.00000	1,000.00	1.00000	1,000.00			
TRAINEES HOUR									
Section Totals:			\$357,400.00		\$369,140.00				



Page 12 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ATSALIS BROTHERS PAINTING CO		(5) CORCON INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Non-Participat		ng	Cat Alt	Set:	Cat A		
0013 152004P	10,000.000	1.00000	10,000.00	1.00000	10,000.00		
OWNER'S AND CONTRACT PROTECTIVE LIABILITY INSURANCE	TOR'S DOLL						
0014 152015P	10,000.000	1.00000	10,000.00	1.00000	10,000.00		
POLLUTION LIABILITY INS	URANCE DOLL						
Section Totals:			\$20,000.00		\$20,000.00		

Page 13 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ATSALIS BROTHERS PAINTING CO		(5) CORCON INC			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 Construction E		ngineering	Cat Alt	Set:	Cat A	It Member:	
0015 155009M	1.000	18,000.00000	18,000.00	20,000.00000	20,000.00		
FIELD OFFICE TYPE C SET	UP U						
0016 155027M	12.000	1,500.00000	18,000.00	3,500.00000	42,000.00		
FIELD OFFICE TYPE C MO MAINTENANCE							
Section Totals:			\$36,000.00		\$62,000.00		



Page 14 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(4) ATSALIS PAINTIN		(5) CORC	CON INC		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	Bridge		Cat Al	t Set:	Cat A	It Member:	
0017 MMB187M	1.000	290,750.00000	290,750.00	630,000.00000	630,000.00		
STEEL SURFACE PREPA AND COATING Str. NO 04							
0018 MMB187M	1.000	313,800.00000	313,800.00	510,000.00000	510,000.00		
STEEL SURFACE PREPA AND COATING Str. NO 04							
0019 MMB187M	1.000	568,000.00000	568,000.00	510,000.00000	510,000.00		
STEEL SURFACE PREPA AND COATING Str. NO 03							
0020 MMB187M	1.000	247,500.00000	247,500.00	450,000.00000	450,000.00		
STEEL SURFACE PREPA AND COATING Str. NO 03							
0021 MMB187M	1.000	1,725,400.00000	1,725,400.00	1,300,000.00000	1,300,000.00		
STEEL SURFACE PREPA AND COATING Str. NO 03							



Page 15 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Line No / Item ID		(4) ATSALIS BROTHERS PAINTING CO		(5) CORCON INC				
Item Description		PAINTING CO						
Alt Set / Al	It Member Q	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0004	Bridge		Cat Alt	Set:	Cat A	It Member:	
0022 M	MB187M	1.000	364,000.00000	364,000.00	530,000.00000	530,000.00		
	FACE PREPARATIONS Str. NO 0327-17							
0023 M	MB187M	1.000	337,525.00000	337,525.00	530,000.00000	530,000.00		
	FACE PREPARATIONS Str. NO 0327-17							
0024 M	MB187M	1.000	431,400.00000	431,400.00	530,000.00000	530,000.00		
	FACE PREPARATIONS Str. NO 0328-15							
0025 M	MB187M	1.000	427,500.00000	427,500.00	530,000.00000	530,000.00		
	FACE PREPARATIONS Str. NO 0328-16							
Section Totals:			\$4,705,875.00		\$5,520,000.00			
Contract Totals			\$5,119,275.00		\$5,971,140.00			



Page 16 of 16

Contract ID: 16428 Counties: BURLINGTON, CAMDEN

Letting Date: June 27, 2017 District(s): H4

Call Order: 428 Project(s): NHP-D00S(079)

Contract Time: 12/31/18 COMPLETION DATE Min: Max:

Contract Description: Maintenance Bridge Painting Contract 2016-5

Cost Plus Time Totals \$5,119,275.00 \$5,971,140.00

() indicates item is bid as Lump Sum



Vendor Ranking

Page:

1

Call Order: 428 Contract ID: 16428 Counties: BURLINGTON,

CAMDEN

Letting Date: June 27, 2017 10:00 AM District(s): H4

Contract Time: 12/31/18 COMPLETION DATE

Contract Description: Maintenance Bridge Painting Contract 2016-5 Project(s): NHP-D00S(079)

Rank	Vendo	r ID/Name	Total Bid	Percent Of Low Bid
1	A5457	ALLIED PAINTING, INC.	\$2,495,161.00	100.00%
2	M0002	M. PAINTING COMPANY, INC.	\$3,837,240.00	153.79%
3	J9320	JUPITER PAINTING CONTRACTING CO., INC.	\$4,177,000.00	167.40%
4	A8360	ATSALIS BROTHERS PAINTING CO	\$5,119,275.00	205.17%
5	C6566	CORCON INC	\$5,971,140.00	239.31%

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,